SA: BT
Fm: 2@ SN0 W2 D FENSHLSN/5Y - &)
SoHsIF ZEerd X (S &)

H-B2-a(3H) - NEAY - HES Ol &+ 24 JEA nsz
30,309,748 14,319,940 15,989,808
= 16,266,278 4,801,017 11,465,261
= 50,000 50,000 0
7l 8,243,088 6,338,361 1,904,727
= 1,530,000 0 1,530,000
=S 4,220,382 3,130,562 1,089,820
F4tgol = D HESH =Y/ s - = 30,210,295 14,285,480 15,924,815
= 16,266,278 4,801,017 11,465,261
& 50,000 50,000 0
Il 8,243,088 6,338,361 1,904,727
£ 1,530,000 0 1,530,000
=S 4,120,929 3,096,102 1,024,827
SotsIH Fgetd X 5,027,079 5,590,929 A563,850
= 0 504,000 A504,000
& 50,000 50,000 0
Il 4,172,935 4,129,185 43,750
S 804, 144 907,744 A103,600
ZTAIZMAD|BE B E(21) 2,820,000 2,920,000 £100,000
) 2,400,000 2,500,000 £100,000
= 420,000 420,000 0
308 AHXIEHHISOIE 2,300,000 2,400,000 A100,000
pl 2,000,000 2,100,000 £100,000
=t 300,000 300,000 0
01 AXSHBEES 2,300,000 2,400,000 A100,000
OAtZEelXl HIZ=Hl & SX- HE X 2,300,000 2,400,000 A100,000
Il 2,000,000 2,100,000 £100,000
S 300,000 300,000 0
SAAIEEUSAIS (2 1) 0 537,600 A537,600
= 0 504,000 504,000
< 0 33,600 233,600
403 XIXIHMSA=01H 0 537,600 A537,600
= 0 504,000 A504,000
S 0 33,600 233,600
01 AXISHMAZ2EE 0 537,600 A537,600
O=AM XIg dHTAIE £ 0 537,600 A537,600
= 0 504,000 A504,000
(=t 0 33,600 233,600
LR FABOIE &K 0 70,000 270,000
308 XtXIEtHISOIH 0 70,000 270,000
01 AXEHMBEES 0 70,000 270,000
O FLEOIEEX 0 70,000 270,000
EZY & Bd - |85 £3(31) 143,750 0 143,750
7l 143,750 0 143,750
308 AIXIEHSOIE 143,750 0 143,750
7l 143,750 0 143,750
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SN - ZE - SR(3) - NRAY - BYS ol et p/EL HIRE2
01 UHXEHMBAEERZS 143,750 0 143,750
OEZEYE & Bd - 2T B2 143,750 0 143,750

Il 143,750 0 143,750

s =4 22,092,271 6,064,606 16,027,665
= 15,089,653 3,120,392 11,969,261

Il 3,486,853 1,625,876 1,860,977

£ 1,530,000 0 1,530,000

== 1,985,765 1,318,338 667,427

IIEESAIY X2 (=1) 13,280,974 3,577,956 9,703,018
= 12,827,653 3,120,392 9,707,261

= 453,321 457,564 A4,243

308 AXIEHISOIA 12,715,974 3,532,956 9,183,018
= 12,262,653 3,075,392 9,187,261

== 453,321 457,564 24,243

01 MXIEHBAEEXS 12,715,974 3,532,956 9,183,018
O=LAAI (B &) 12,715,974 3,532,956 9,183,018

= 12,262,653 3,075,392 9,187,261

= 453,321 457,564 A4,243

403 XtXIEHHISAH=20|H 565,000 45,000 520,000
= 565,000 45,000 520,000

01 AXISHMAZ2EE 565,000 45,000 520,000
OJt=&dl X 565,000 45,000 520,000

= 565,000 45,000 520,000

IIEEY2EAM(=D) 1,169, 140 1,169, 168 A28
Il 974,283 974,306 A23

= 194,857 194,862 A5

308 AXIEHISOIA 1,169, 140 1,169, 168 A28
Il 974,283 974,306 A23

=~ 194,857 194,862 A5

01 HXISMBAEES 1,169, 140 1,169, 168 A28
ootszY =2 1,169, 140 1,169, 168 A28

Pl 974,283 974,306 A23

== 194,857 194,862 aNS)

ZAYUYESAl=H € L5245 K2 245,332 235,332 10,000
202 O4d| 20,700 10,700 10,000
01 SLHHYI 20,700 10,700 10,000
oYy HgRFA 20,700 10,700 10,000
ALIEESY 2SYH 2,030,000 0 2,030,000
= 1,530,000 0 1,530,000

S 500,000 0 500,000

201 2| 40,000 0 40,000
= 40,000 0 40,000

02 EE323H| 40,000 0 40,000
ooy 29 40,000 0 40,000
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S2A: =4
M U8 BAO M2 1 YESH(SHUSA/ Y - 55)
&R JIsgd =& CERE)
2M -3 .. AA(SIH) - HEAME - BES Off &b oH i 3o blus2t
= 40,000 0 40,000
206 M=l 145,000 0 145,000
s 95,000 0 95,000
[ 50,000 0 50,000
01 M2l 145,000 0 145,000
OTHY SABIE £ g 145,000 0 145,000
s 95,000 0 95,000
[ 50,000 0 50,000
308 XXISHSO0IH 1,770,000 0 1,770,000
= 1,320,000 0 1,320,000
= 450,000 0 450,000
01 MXISHBABEZ 1,770,000 0 1,770,000
OFM get x| 1,750,000 0 1,750,000
= 1,300,000 0 1,300,000
[ 450,000 0 450,000
OHSXIE 0IME HH X 20,000 0 20,000
s 20,000 0 20,000
401 AlZHIZ S 50,000 0 50,000
s 50,000 0 50,000
01 Al&Hl 50,000 0 50,000
o= U ASAE &3 50,000 0 50,000
= 50,000 0 50,000
405 Ko SH 25,000 0 25,000
s 25,000 0 25,000
01 AL SEZ S| 25,000 0 25,000
OUEEIHMASEE) 7Y 25,000 0 25,000
s 25,000 0 25,000
KIS Bl X 50,000 0 50,000
308 XHXISHHISOI® 50,000 0 50,000
01 MXISHBAREZ 50,000 0 50,000
oRIIsE 2Ll 50,000 0 50,000
ZAHsTL MOHERIE XI”(2D) 1,861,000 0 1,861,000
J| 1,861,000 0 1,861,000
308 XXISHHISO0I™ 1,861,000 0 1,861,000
J| 1,861,000 0 1,861,000
01 XXISHZAEEZ 1,861,000 0 1,861,000
OMHOHEXIZ X 1,861,000 0 1,861,000
J| 1,861,000 0 1,861,000
IIEMSX FHIAY(Z2D) 1,991,000 0 1,991,000
= 1,991,000 0 1,991,000
308 XHXISHHISOIE 1,991,000 0 1,991,000
= 1,991,000 0 1,991,000
01 XIXISHZBAREZ 1,991,000 0 1,991,000

- 261 -




X EH
Lo s B
cro|

s = CERE)
2AH .38 -G (3H) - NRAY - BHES Off &-of JIEA Hlus2
OJIEMEX ZHl 1,991,000 0 1,991,000
= 1,991,000 0 1,991,000
ABIEZAIE TWa=TR(2D) 271,000 0 271,000
= 271,000 0 271,000
308 XtXISHHISOIM 271,000 0 271,000
= 271,000 0 271,000
01 AXISHHBARES 271,000 0 271,000
QBT AL =T 271,000 0 271,000
= 271,000 0 271,000
IIENEX RN XY 111,675 0 111,675
308 KHXISHHISOIE 111,675 0 111,675
01 XXISHHBARES 111,675 0 111,675
OIEUWESX RX22l XY 111,675 0 111,675
M ormst o 461,000 0 461,000
LAYK RTSS HPAL 110,000 0 110,000
308 AHXISHHISOI® 110,000 0 110,000
01 RXSHBABES 110,000 0 110,000
OYESI RaFY B3 110,000 0 110,000
AZE 79 X 66,000 0 66,000
308 XHXISHHISOIE 66,000 0 66,000
01 RXSHBABES 66,000 0 66,000
o/EE 7Y X 66,000 0 66,000
HA DS HY =X 60,000 0 60,000
308 XHXISHHISOIM 60,000 0 60,000
01 RXISHHZARES 60,000 0 60,000
oSFY 23 60,000 0 60,000
RENYE 7 L STHYD| 150,000 0 150,000
403 XHXISHHISKH=0|H 150,000 0 150,000
01 XXISHHK=EE 150,000 0 150,000
OZRHYI & B2 7 150,000 0 150,000
SIh ASAIE &1 X 75,000 0 75,000
403 XX SHHISXH=0IE 75,000 0 75,000
01 XXISHX=EE 75,000 0 75,000
Ot ASI| &3 75,000 0 75,000
HHS S (ST (IIEHIIE 64,460 34,460 30,000
J12Z| 64,460 34,460 30,000
S£H2Y J|=22H| 64,460 34,460 30,000
201 LBt 42,130 22,130 20,000
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2N S4AH

M. HYSHZHI(S4D)(OIEHIIE

S J|23F| (&)
EM -3 . Ad(3) - HEAY - BHES Off AFoH ] = ol Hns2

01 Ar=222|Hl 42,130 22,130 20,000
ORNE2ZE AIRZE2IHI(RHSsAE22]) 20,000 0 20,000
202 (4l 17,680 7,680 10,000
01 Z2UWHAbI 17,680 7,680 10,000
OBRAN2ZE ZUHHI(RHLErE22]) 10,000 0 10,000
HRES (S (SEHHLLA/ s - &) 34,993 0 34,993
L=PSUNES 34,993 0 34,993
=g - sERE 218X Z3 gtE 34,993 0 34,993
802 BtEt=2J|E} 34,993 0 34,993
01 =2NE8x36te=Z2 34,993 0 34,993
O'10 JIsAMsA=E K& 24,034 0 24,034
O'10 =sHAME 29 X& 10,959 0 10,959
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